4.5 Graphs of Other Trigonometric Functions

Evaluate y = tan @ for the multiples of Z in the interval _;E <g=< 3?%
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Properties of the graph of y =tan#

1. The period is §% .

T
2. The domain is the set of real numbers except En, where nis an odd integer.

3. The range is the set of real numbers. (—o0,0)

4. The x intercepts are located at 7 n, where n is an integer.

5. The y intercept is {0, 0).

T . .
6. The vertical asymptotes are x = En, where n is an odd integer.




Ex: 1 Sketch the graph of y = tang for 2 cycles of output vahzes.

Ex: 2 Sketch the graph of y = —3tan(2x) for 2 cycles of output values.




Evaluate y =cotf intheinterval —7 <0 <2rx
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Graph y =coté
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Properties of the graph of ¥ =cot#

1. The period is iy .
2. The domain is the set of real numbers except & 1, where n is an integer.

3. The range is the set of real numbers.
4, The x intercepts are located at En, where nis an odd integer.

5. There is no y intercept.

6. The asymptotes are x = & n, where n is an integer.




Ex: 3 Sketch the graph of v =2cot g} for 2 cycles of output values.
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Properties of the graph of y =csc8.

1. The period is 2. The domain is the set of real numbers except zn, where nis an integer.
3. The range is (— oo,—l]u[l, oo). 4. There is no x intercept.

5. There is noy intercept. 6. The vertical asymptotes are x = 7 #, where n is an integer.

i In
7.y=1when x = 3 + 27 1, where n is an integer. 8.y=-1when x = EX + 27 n, where n is an integer.
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Properties of the graph of 1 =secd .

1. The period is

N

T
. The domain is the set of real numbers except En , where nis an odd integer.

. The range is (— oo,—]]u[l,w).

Ll

4. There is no x intercept.

Ul

. The y intercept is (0,1},
T
6. The vertical asymptotes are x = En, where n is an odd integer.

7. y=1when x =7 n, where n is an even integer.

8. y=-ITwhen x = n, where nis an odd integer.




Ex: 4 Sketch the graph of y =2 csc(x + %) for 2 cycles of output values.

Ex: 5 Sketch the graph of y = sec(2x) for 2 eycles of output values.




